
Subject: Tunnel Nukes (Field Mix)
Posted by Anonymous on Sun, 30 Jun 2002 22:47:00 GMT
View Forum Message <> Reply to Message

I have just worked out that 1 ion beacon can get both air strip and refin and it only requires 2
beacon to kill both at the same time. GDI have to have total control of the tunnel and requires
team work to place the two beacons. With both refin and air strip gone at the same time Nod will
be unable to recover from it and the remain job is use Gunner from tunnel to take out Obe while
tank is hitting hand. For Nod it is a lot harder to get both refin and barrack with one nuke.
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